i " Ry
oLl Cade H2am

(3 Hoursy Tutal Marks @ 104
Wote =1} 0| 1 complsary
(2} Answer my four ool of rey

fining six questions
i} ' ! B ! B )
(3} Figure o righe ingdig;

de Ml marks

I.oa)  Draw the dj
laver,

by Camment on CIDR notation

¢} Compare between O8I mode! and Tep
d] Rowter is an intelligent deviee, Justily,

e ot 1 “ { - . '
agram ol sub laver of data link layver and the function of each sub 20

AP protocol suit,

k3

al  BExplain different mod es, [rames in HD1.C protacol |
vl Paploin carrier sense rltiple access collision defection

Lh th =

3. ab Acompeny 15 granted the site address 191,256,0.0, The company needs (024 10
subnets design the subnet.

b} Explam connection establishment process using 3 way handshaking of TCP. 10
4. a)  What is flow control? Compare between stop and wail, Go beck M and selective 10
repeat ARG,

b1 What is frapmentation? Explain the f2elds related to that process. 1]

5. a) What is delay analysis? Slate Erlang formulas. Explain MM quene model, 10

By What is role of ICMI? Explain query messagss, 11

6. a) Explain various transmission media in details, 16

b)  Classify the unicast routing protocol and explain BGP in brief 10

7. Write a short note on [any four] 20
1) U

ST

113 Link stale Vs distance veelor routing e,

s Wl
i [P datagram E:-{JJ g}
vy DHCP i ‘-'bfarﬁg
v) IPv0

e ————— e E R e ——————
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ETENEXTC ool
i, I';-r::]l 0.P. Caode : 788901 :
o .
7
{3 Hours) | Total Marks : 80
MN.B, 1 (1) Question No.I is Compulsory.

(4)  Attempt any three questions out of remaicing guestions.

(3} Assume suitable data wherever nocessary,
Amnswer m brief. {(Anv Four)

(a} Explain different redundancies in data and how they are used for data
compression. Also give evaluation paramelers for compression
techniques,

{b} What are the goals of cryplographic systemsT Describe various atlacks
compromising these goals,

{c) State Fermat's Litlle Theorem, Euler's Theorem in modular arthmetic.
What is Euler's Toticnt function” Compute th{37), @(35), and ${73).

{d) Give an example of each:

»  Substitution cipher

= Transposition cipher
»  Stream cipher

= Block cipher

(&) Explainextended Coclid's algorithm, and compute mulaplicative inverse
of T moduloe-16i,

(a) Explain the ponciple of arithmetic coding. Henee penerate a decimal tag
for the sequence: SWISS_ MISS. Also decode the decimal tag.

(b} What are the advaniages of 1m:1im_ur_n wu'ianc!a Huttfinan codes gyveor
parmal Heltinan codes? esign a minimum varance | utfmean eods on
the sourse with alphabet A=§ al, aZ, 23, ad, 53} wilh respeciive
probabilitics {0.23, 02 0,15, 03 01},

(1) Explain lossy and lossless schemes for image compression, Give an
overview ol JPEG-2000.

(b) Explain Frequency misking, Temporal masking with respect 1 diicdii

B'E‘S&ﬁvﬂ ]‘185@5[ Dl & C

compression, Alse explain how an MP-UI encoder works,

TURNOVER
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2
4 () Compute the enerypted and decrypted 1ext using RSA algorithm for the 1

pluintext 8. Public key is (n, ¢)=(187,7).
¢ [ollowing string and find the [

(b} Perform LZ-78 compression on tl
compression ratio, 100011110101111000111T] 0011111
3. (a) ExplainT riple-DES with two keys and the mpfect-in-the-middle-atiack" 8

(b) 'C‘jn-”‘.fdur i Diffie-Hellman scheme with a common prime q=T1 and 4 10
primitive root o =2,
(i) Show that 2 is primitive root of 11. ,
(i) Ifuser A has public key Y, =9, what i_s A's private key A?
(i) Ifuser B has public key Y, =3, what is the shared secret key kv
210

6. Write short notes an {(Any Four).
(a)  Digital Signatures
(b)  H.264. Video coding standard
(¢)  Ethical Hacking
(d)  Digital Immune Systems
() Elliptic curves for cryptography
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e _"-':'_“ e L BEEmS - Mlee 2ails

“ Wk ' - MARL Q.P, Code : TRE802
['3, ll““rﬁj TI_-Itul _\"[:I.'I'kﬁ . Hﬂ
1 Rlﬂ
Nate :1. Question No. 1 i compulsory. _ e
2. Out of remaining questions, atzmpt any three gueshons. H{f}"&
3. Assume suitable additional data i required. : ,.f[}
4. Figures in brackets on the right hand side indicate full marks. ﬁ
W ]
1. a)  What is meant by RADAR range? :g—-" 5
b} Explain the working of Hybrid ring. e 5
c) Cxplain trevelling wave iube as an amplifier 'c;':" .
d)  Explain working of IMPATT. Q{‘_‘;
: o 10
2. a) Match a load impedance ZL=60-j80 ta u 30 £} ling using dU”blf“[uzr:;T;;
The stubs are open circuited and arc spuced A8 apart. The match frequenc
2 GHz. ; L 10
: . 1 iE J
by With a neat functivnal disgram explain the wurkiog pﬂif@ph of Cylindrica
Magnetron. L8
5 10
3. a) Discuss the various (requeney hands and r:hﬂra_ﬁxtjcs of microwaYes. i
b} Explain Doppler Shift and it role in pulsed .}g{ AW RADAR.
-
10

4, a)  Explam instcument landing syslem for ai rE Fall navi gutic'r. v
by Radar operating ul 1.5 G uses 4 pq&ﬂnuls{* power ol 25 MW and oy
ranpe of 100 nmi for oojects whm.-g-:_i;f:lﬂar cross sectlon is 1 m* If'the ”jl'm:mcr
reccivable power of the receiver x| (013 Watt, what is the smallest diat -.:.ﬂ_|

of the antenna refleclor could dive ussuming it to be a full parpholoid wi

and hag o 10

n=0.45. _{:':a
> i “thew in detail, 10
5, @] Slatc various modes af €3unn diods and explain any 00¢ -:_JI 1I]-sul1 in etail. i
| by With block dingram {.3[:]3'111 the MTI radar system, (rive its limitations.
=
?\- aal 1} : .

6. a} Givethe workingPrineiple diffcrence between Twn Cavity Klystron and Reflex 10

K lystro. _,\-5&' | o

by Writc a shoff hote on rectangular waveguide,
-0
p
L
"
"
¥
WP
(L
s

{?‘j
i
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gub - FME

{3 Hours) Tadal Marks : 100

Note :1) Question No. 1 15 compulsory.

(R

-1

2} Solve any four questions from Lhe remaining.
3} Assume suitable data wherever necessary and justify the pesmptiv. o)
4y Draw suitable diagrams wherever required. *’-:.h
,:;:1
(a}  Justify why waveguide dies not supporl TEM propagaticn. {E} 3
(b)  Differcntiale hetween transit time devices and transferred Electron dw;:ﬁiq. 5
(¢} List out characieristics and hazards of Microwave. o ?
(d}  Explain microwsve prapagation in Ferrites a5 5
5
{a) How matched impedance iz sehigved in transmission linc? ExﬁEin any one 10
method in detail. v
{b) The dimensions of rectan lar waveayide are 2.5 conand 1 {sﬂ’i_ The frequensy 19
gu g s,
of aperation 1= B.G Gl iy
Find (1) All possible mudes (1) Cato I froquency au%ﬁ‘,%ida wavelength.
.

(a) Explain the working and derive 5 matnx oru [ﬁ:ﬂmlc directiona] coupler, 10
(b) Describe the mechanism of velocity :::ll:u:llllu,ﬁ:“ﬂ in bwn cavity kl}ﬂslr_nn and 10
henee ohtain an expression for the bun -;?H boam curcent, Also find ou

condition for maximum power oUpuL. o
e
o
(a) Designa low pass cnmposite filter -:ﬂf@cutnﬁ frequency 2MHz und impedance 10
of 50 ohma. Plage infinitc altenuaffon polc ul 208 MHz
(b Explain working iy amp]iﬁc.% Go process in TWIL 10
.
(a) Explaii the procedure -:i.fi]-l‘!]E:IHLII'E']'I'I:['I‘[ af diglectric constint at micrownve 10
frequency. 5 . o . _
(b) Explain the r.'unslmg{nginu aped woerking of microwave FET in detail. 10}
(a) Fxplain differ-;;ﬁ;:ﬁmduﬁ ol aseillation of Gunn diode, T
(b} How isbun %ﬁfﬁ‘g qetjvated i cavity magictron. Explain phase focusing effect, 10
)
b g
Writc shott {@"‘1&5 o 1he fellowing - 21
q. In@aﬁ dipde
b. Betiodic structure _
“Kficrostrip transmission line
whd, Tsolator and (ryralars
I:'_..ID

Do [l

Q.P. Code : (2891

¥
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A% Q.P. Code : TRETO2
BE Cer1- WL Cres) Expe Mov-pe ¥4
10
':VJ-J".
fub - ocgnNn o |
(3 Hours) [ Total Marks : 80 o
| '
B2 (1) Question mo.1 i compulsory. ,Q::-m"
(2) Attempt any three questions from remaining guestions, {F
(3) Figares to the right indicate Mall marks. q:'jb
A
w2
b
I Attempt any four of the following :- [r..D o
2) Compare intermodal and intramodal dispersion. 'bij
) b} Explain the basic working principle of Lasers,
c) Differentiate between the optical components isolator and c!@ ator.
d) Explain the concept of Bragg Graling, "?-‘-'
¢} Define crosstalk What are the types of crosstalk in nf:ﬁ-'.:ﬂf fransmission
system? o
Q‘r i
- 2. a) Derive the expression for pulse spreading in m!{i‘rﬂodu! dispersion. 10 '
b) Draw architecture of SONET/SDH and cxp:gh in bricf, 10 5
|
3. a) Explain Material attenuation in optical &wcﬂmmunicaiiﬂn. 6 ,
b} What do you mean by bit interleaving 4ind packet interleaving? 7 ‘
¢) Derive the expression of F-:-wcg&‘r:nalty with impairment and without 7 !
impairment. - 3
_',‘j'j‘h" |
"', 4. a}) Explain SPM and how @s mitigated by GVD, 8 i
. b) Explain four waves miging, 8 !
¢) Comment on nmd‘lgﬂ"aw:]mgih stabilization. 4 |
5. a) Explain Jmp%nﬁnt network management functions to the operation of the 8
Network. )
b n‘-:::u: isgiiicro bending loss? Explain how to minimize the these losses with 8
c) H@u DWDM s different from WDM? 4 5
q;. !
'ﬂ@‘iu a short notes on :-
159) Link Budget 20

|T'j Dispersion and OTDR

< iti) Optical Access Network
Mb‘}s: iv) WDM network element and architecture

& e M
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BE eM. W Gre Mow-Aie- ﬂmfr o)

Gub - BEE

{3 Hours)

T ave, K%ij - DR
oh-d,

)

().P. Code : 628400

NB: 1) Question No.T is compulsory.
(7 Answer any four out of remaining,

(31 Assumc suitable data il necessary and justify the same,

1. Answer m brief {Any Four) :

[Total Marks : 100

o

Ryl

i,
AR : ’ i i e i e S
fab Coveclussificanon of data compression techmigues. Also gve E‘-:llL]EITlI,J;I:i-

paraineters [or these technigues,
(b} Explam what are the disadvantapes of private key cryptosystelis i And

fiowy they are avoided in poblic key cryptosystems. v

r.:?

e

(c) Explain predictiva rechnigues for compression with ﬂl‘qﬁﬁmﬂ'iﬁ-
(d) What are the redundancies present in digital imagegfflow are they
exploited in lossy image compression?
() What arc hash {unctions? Give requirements %’-‘ﬁlﬁﬁh functions.

=

3. {5) Explain the principle of arithmetic coding with giexample. Hence generate 10
a decimal tag for the sequence : ppggrgr r@&n the prabability model :

symbol P

Y

I

Count 37

1

b ®

A

(b} Perform minnmum variance HuEIm.m coding and [ind code efficiency for 10

the following model : 1;::’
‘%ﬁmhnl P'robability

A 0.43
" B 0.3

2
& C (.15

R
pax D 0.1
L GI :
HH'ID

Q)
3 (a) Ghrqfﬁc block diagram of a lossy JPEG encoder and decoder. Explain 10

ncoder 10 detail.

{b @xplain auditory masking and temporal masking related o gudig 0
"—_.{-"' compression. Also explain the working of a MP-111 encoder with 2 blogk

P2 " diagram,
.Hé}P

TURN OVER
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B (.1 Code : 628400

- _-JI
) 2
4. fa) Whut is the principle af video compression” Explain how motion veelors 10 i
are computed and coded. 0.
{b) 'I,'_|1I1-.=1:1|1|:! different techniques for dhictionary compression, Lxplan any one ]\er’
with & suitable example, A
o
5 H T bl ' - - 4 ' - e o T I;b.
A {‘13 [H‘-Eﬂ l_hL block diagram of DES cnervption. Explain cne round in HEE;EEI. I
b Explain "Meet-in-the-middle-attack” in triple-DIES. i}t"'x 1)
e
e
: N ;" J
6. (3} What ﬂr.l.': Digital Signamres? Hustrate how can you uge RS x.g(gﬁclj-'piirm— 10
decryplions scheme {or authentication? &
(b) What arc key - exchange alpocithms? lustrate the l'ii_l'l?u—l{uilman key 10
exchange algorithm with a suitable example. R
o
f{*‘.“
7. Write short notes on any two | :{':-:' A
(1) A-law and p-law for audio -:;m:mrﬂﬁﬁigﬁ
(b) Intrusion Delection Systems _x{l“
() Firewslls design principles I
(d} ¥iruscs and worms b-i.f?
0
L
o 2
b '
oy
¢
-0
o
5
by
ot
R
C‘l &
Je
i
kS
i
S
£
o
!
DID
1'_:‘
"
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BE JEM-ull ExIC @BgC) u::r;;-ﬂté*%’ﬁ’

Mc [ g @ gpre| c8Gs |

Bl-124k
Juh -
MC Q.P. Code : 788602
l.
(3 Hours) | Total Marks : 80 o7
D-'
NB. : (1) Question No.1 is compulsory. 'ﬂ‘b
(2) Solve any 3 questions from remaining questions {:}
(3) Assume suilable data if necessary stating it clearly. .{115
o
Lt e s R
. (2) Explain the advantages of Software Defined Radio Communicatioh 3
Systems &
. o
(b) Compare berween FCA and DCA channel assignment strategics 3
(¢) What is Soft Handoff?” Q“ 5
‘uﬁ and how 5

(d) What are the bandwidths and chip rates used in WCDM
.-

they are compare with cdmaOne?

&
frequency reuse 10
to-co-channel

acceptable?

: g et

2. (a) Consider a cellular system with S/ ratio of 18 dBoJhe
factor is N = 7, calculate the worsl casc focidignal-
interference ratio. Is the frequency reusc f:tr:lE,g,ﬂ.f still being

i3

If not, what is it? {

Assume path-loss exponent as 4 in a mobile radio environment

(b) With respect to trunking theory desgribe following terms;
T

i, Busy Hour Db
ii. Traffic Intensity A, F—f‘"
i, Average call arrival rafis & Average call duration I,
iv. Erlang-B System & Wrlang-C System.
v, Trunking :Fﬁuig@ & Grade of Service (GOS)
&
3, (a) Describe GSM fr%mc structure. 10
(b} Why 15 pﬂ“’ﬂ-’:ﬁ %ﬁ'mml used in cdma2000 and WCDMA? 10
4, (a) Draw a ntg(fg)diagmm of UMTS systemn architectures with interfaces. 10
10

Ex plai@}? details . .
(b) whaﬁy Multi path Path Signal Propagation and Rake Receiver.
)
R

@
TURN OVER

Scanned by CamScanner



3. (a)
i)

(]

& 1a)
{b)
(c]

Q.P. Code ; 785002

i
Urn‘fﬂ' i neat dingram of LTE Network Architecture and cxplain in ]
details.
Why LTE uses OFDMA for DL & SC-FDMA (Single Carrier FDMA) ; rL: ‘
ey LILY '
R
How do we yse space-time biock code (STBC Jand space-time trellis JI.-
code (ST TC) e
A
Ca
'l_.'L}m]J:LTE botween 1GE MLTE and Advanced TTE. 1;33' ] i
Describe the Knife-cdge Diffraction model, x:-h 3 .
In a cellular svstem, if camier frequency fe=Y00MHz and nm@@vuluc ity 10 I
is 70km/hr. Compute the received earier frequency if #ie mobile js
MOvIng .
[1] directly towards the transmitter, '-::;'5
[ii] directly away from the transmitler  (£7
[iii] Inadirection which is perpendicular tnﬁhn: diraction of arrival
of the transmitred signal. A
gn 4"'5:'
\':_"‘.
N
s
o e
T gl i‘ 3
FAETITEN L
] H;:::* ' : '11%'1'- “’3:'
| ERWTLARES 4| N
g2 Y . ’j _H:.;_;. I
v '\.1%\. ) i .\_J:;‘ -i:._l_'-:'lr q{:
¥ .1?:.‘;:;».. !.H ,,é‘:l
'E\{'I.
b
¥
|"'r-:‘-";
(i
o
Ls:
o)
s
P,
e
%
K
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e
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L

JFATC b o

'[|,|"-"|'- r i

Jr:'-' YL ‘M” '_I,r’iu... 3.-*.']1'\ AT

&
i

'..'I""I‘_' 14 @

& QU Code @ 2R3N
LY Moy [Toinl Murks ¢ 100
NOTE:
G II;' E:ll“'!““ No. 1 by cimpmlsnry,
3 ﬁ,.-:"llll iy o puestjions o e eeiaiiming Sis et lon
4y ﬁ:‘i:“”"'“”" e shon I e elent ly s,
e b b slhieever veguled bt sty e sime
"w
T ooy Find ¥(m) using freoiem, E
B Ith:nlij': ihl;"i!‘:‘]?_l.f”in|lln.ll_u.} domndn nmlysic 11 w(n) = [1,2, 1) and hiu) = (32}
respotise h(n) _" {“1' III-‘.HfIr!I]L*I:-. bised i by [istsbizmd By aketching their I'n.uill.u:ﬂ'lj-'
el Obe R e
| “":1 :"|1|:I E.I:.:hlj:!..f;lll Mier trnsler unedion | I i) |'|:|-' ||r|||]_:|.||||,: Lnpuslse fnvnrtanee ||-|'|||'|f|||||'||rn|i|||. 1n
N T r
Ha(s) = $2 1450 el Vs fyee '
di Find convolution of v Wy=11234 L i } : ;
ac pflodis el [ LA3A) with 2,00 = [5.6,7.8)] :I';fl'm" bestls thie wignaly
5 -IIII.
.'I' :
T o) A sequence is riven as K
S(O0= 2,143, 2ed), 2425 |
(ih Find X (kpusing BUT-FFT nlgorithn &
i} Llsing the results (o (0% ond not othersize fad PET ol pdod and gind where
iy Lt I ] Vol f I |
py={1.1.22 {if’
qin}= {2.3.4,2} _ln_.l'"
hy XK = | 36, - -F 0G50, - A4+, - A4y ] I.‘I.E.l,:ﬂ . O A B 5 T B S B LT 1
PX(K) = { 36 19,65 +4 31656y Al 4y -4- 005
Find x{r ) using IFFT alporathn  use T TP
I3 I111
Ly
- ;
3 u} Perform circular convolutiop ihd circular crosscorrelution of
_rl{'rg_} =] ;g_j';lluﬂ '|.b.'jl]_|-.f-"hhL J:-'!'['i'!_] = SIrlan s n=s .I'lI =1
b) One of the zeros of an wl symmetiic U Gher §s ot 052600 Shaw the locations of othe
erers, What is the mintmum order of this filler”? Also find the waster fmction and wnapolse
rcspung: r_l-flilfS ﬁl{iﬂ}lr
,E’;-I i
o)
4 ) Consider thi scquence xfn] = 48{n) -+ 3d{n = [} 4 28{n = 2) 4 &(n - 3).
Let X 5-1_'1_.“.: the six point DFT ol x{n). Vind the sequeence w{a) thut has six paing
DT WK} such that WK} = RelX(K]]
b) Dewfmine pamllel and eascade form renlizition al
i 1-046z"8
.--:"r ”{z} = U'?I{H-n,jz“—[:l.?:;-:"'*'}
A [

TURN OVER
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T —— T

2

1) 'The desi
a) & desired response of 4 low puss 7|y
ilter is

H;:[{d] = p—l2u

T

b) Determine the Frcqur:ﬂu:,- respionse H A
A LPF has ﬁ:lﬂ-awing speciﬁcutiun;e
0.8 2 Moy = | lor 0 = gy < g2

[Hiw] = 0.2
Find filter ﬂl‘lLEr o for 0.6m < <9

(1} Bilinear tratstinmation

ii : is used e
(7} lenpulse invarianee s o, for designing

sed for designing

a) LExplain the
Wy =4, D
b} Explain Goerlze|'s Algorithm

Write notes an
a) Decimation process
b} Chirp Z Algorithm
¢} Linear and circular convolution 0
d) Frequency sempling realization of FIR Eﬂrﬁ
. .£J

k]
s

1A

_1?
7 =

=0 - 2 || =

Q.. Code : H28300

10

. )
(/) for M4 using  Restangular window A

o
£

-
fa
o

i i : : ¥
eed of a Jow Pass Glicr with & decimator snd mathematically prove tha 10

11

20
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(i} Entropy of an image j i
] 15 a1
!’h}!'l;-umgmz Dilation ar.-tiEEEm::rttml

te) Explain deferment trpes of fromes in video signai,

thod of principal component anatvais
<ed by histogram equalizazion -

20 )1
3. A Q. P. Code : 788500
VIL | &3¢ CRES WOV ~Deg - 94
g . (£ 28 8.5
sub - .oVE
’E%—U P -5,_121"‘
_3 "
(3 Hours) A Toral Marks - 80 :
"'\-\.1"
M (13001 is CoOmpulsory. J
2 " ﬂ.ﬁ
(3) Salve ny three questions from TEMmining o guestion >
I '.,_-.: Hi L w3 3
(3 Assume suitable dua if ji i requined :-r
Q.1 (a) Justify Contradict the faljow s
e I " '.-:\.
1) KL transform is u.Ta.-: :;;!E;af::m ;:-[:ﬂ]

2(a i Therteat s o
Q. {{:‘i;‘_ﬂé?;kﬁﬁglu_!_mm s shown in Fig{2), find s Negative of the ighee
(iv) Draw b ng (Hi)Perform comrast modification as per the charscieli R
Hogram of new image ¥ b stics given in fig |
B [0}
By ,-.,:*;:
FLE
i/ }f’ ﬁtﬁﬂ :|| 3] 7 ]
. .
~ |46 19
7 e [ |
‘__-I-*"F |' | | 4 | 7 e E
b - I.l-" J I ur\- '-I'I5|I|:I|"I
"] i ! } ﬂ.'} (| = R (N
g 5 2 5 q-?
i
1 '.'.F‘.|I|I|I v
Fig(1) Fig{2) Digital lntage

h
W
(b)Explain dynamic range com
{t) Explain image deradation 1in detail.
Q.3 {a) Write short no on: WicngBFilter
o

b) Find DFT of the rnbrp:‘aq‘ng image

b,
0 BRi |2 |1
=2 |3 |2
2 |3 4 |3
1 (2 (3 |2

c) Givaﬁt of points use Hough transform to join these points
AER), B2.3), CL.1). Di4,1), E(5.0)
%]

"':'uﬂ techingue with applicasion .

[03]
[05]
(o8]

{0a)

[0

[TURN OVER]
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(3. P. Code : TBESnq

[

o

4 {a) Consider the Tollowing fmage

{UPerform Low Pass Fillering |_r s
(i) Perform Median Filtering 720
Uit} Finel Hligh pass fitered aucpot |_1 I_
(1 compare reselt ing i) and (750, =

Idl

I‘."
r
o 4
1. [Explain Phase T2 e

. agp & ERAL
(3} What s (he diffecen: motion estimation criletia for videa SIED

correlation  methed for metion estinacian -,I'tfh_l
= (2] F.:-: lmin i inpage cnliieenenl o feguen _}r ﬂl:lrl._!lﬂv:-;ll;-lili;ll —_— perforn regicm Filin %FGWE‘
) Jhu input imtage and @rpctering elemenl o5 as oo &
Llparation
-
P
=
_'\'\.
.n )
- ..\'l'\l
c-
-::7‘{.I
T
W
-
s
-
| . i
Imput Image Stuesuring slenggt

Cob Do eclpe tnoan imege, Give differc edge delestian JTl-;a-";"{J 0=
L

2 i & . - o ' i1 [
Qe (a)  Using Graph Thearetical approach, fing the edge Egﬂﬂspcnclmg to the minimum eost patk 0]

12 uF
2.6 4

- .\I_‘:_
w33

B

(b} Scement the following image u.sl.i:ﬁ reggion split and merge technigue  Draw quad tres

representafion  for the correspondjig scgmentation. [05]
e

-:-1':;-
2} Wlar isginitary transform.
(c) “;n- ¥ [04]
i} j_-:;:r:-lc.m inbriel it or Miss Traazfonn
& [04]
.:‘pt'
iy
P
e A et S e
o)
A
IP.
@
,1‘:*
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